Name: ____________________________________________________________________  Period: _____
Specific Heat Equation

Equations:  Q = mcΔT

ΔT = Q/(mc)

m = Q/(cΔT)

c = Q/(mΔT)

Directions:  Solve the following specific heat equation problems.  Please show all work in correct factor label format and use correct units to receive full credit.

1.  An object has a mass of 56.1 g.  The specific heat of the object is 8.5 J/gºC.  How much heat must be absorbed by the object to raise the temperature 4.3ºC?

2.  What is the change in temperature of an object that absorbed 789 J of heat, has a mass of 8.9 g, and a specific heat of 0.9 J/gºC?

3.  When 6,790 J of heat was added to an object that has a specific heat of 1.23 J/gºC its temperature rose 9.5ºC.  What is the mass of the object?
4.  When 1500 J of heat was added to an object that has a mass of 89 g its temperature rose 24ºC.  What is the specific heat of the object?

5.  What is the change in temperature of an object that absorbed 14,556 J of heat, has a mass of 69 g, and a specific heat of 8.8 J/gºC?

6.  When 70 J of heat was added to an object that has a specific heat of 0.78 J/gºC its temperature rose 14.5ºC.  What is the mass of the object?

7.  An object has a mass of 22.8 g.  The specific heat of the object is 2.64 J/gºC.  How much heat must be absorbed by the object to raise the temperature 20ºC?

8.  When 2100 J of heat was added to an object that has a mass of 46 g its temperature rose 2ºC.  What is the specific heat of the object?

9.  When 123 J of heat was added to an object that has a specific heat of 5.45 J/gºC its temperature rose 6.2ºC.  What is the mass of the object?

10.  When 421 J of heat was added to an object that has a mass of 7.4 g its temperature rose 16.4ºC.  What is the specific heat of the object?

11.  What is the change in temperature of an object that absorbed 92.4 J of heat, has a mass of 50.6 g, and a specific heat of 5.7 J/gºC?

12.  An object has a mass of 12.5 g.  The specific heat of the object is 9.6 J/gºC.  How much heat must be absorbed by the object to raise the temperature 45ºC?

13.  What is the change in temperature of an object that absorbed 100 J of heat, has a mass of 3 g, and a specific heat of 0.66 J/gºC?

14.  An object has a mass of 98 g.  The specific heat of the object is 2.6 J/gºC.  How much heat must be absorbed by the object to raise the temperature 8.9ºC?

15.  When 1500 J of heat was added to an object that has a mass of 89 g its temperature rose 24ºC.  What is the specific heat of the object?

16.  When 980,000 J of heat was added to an object that has a specific heat of 3.54 J/gºC its temperature rose 200ºC.  What is the mass of the object?

17.  When 4,800 J of heat was added to an object that has a specific heat of 2.96 J/gºC its temperature rose 4ºC.  What is the mass of the object?

18.  When 20,500 J of heat was added to an object that has a mass of 900 g its temperature rose 122ºC.  What is the specific heat of the object?

19.  An object has a mass of 4.12 g.  The specific heat of the object is 6.0 J/gºC.  How much heat must be absorbed by the object to raise the temperature 12.2ºC?

